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Question Id : 9209068093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Based on the given passage, answer the questions 1-5:

Three major verdicts given by the Supreme Court during the 1980s and the 1990s
goaded the state to assume greater responsibility in the matter of providing access
to education. These verdicts (Bandhua Mukti Morcha vs the Union of India, 1981;
Mohini Jain vs Karnataka State, 1992; Unnikrishnan vs Andhra Pradesh, 1993)
seemed to offer eminent examples of the hermeneutic space available in the
Constitution, revealing how important it was to read the Constitution imaginatively in
order to crystallize the ideas that may not have been fully articulated. The crowning
exercise of this kind figured in the Mchini Jata case in which the court extended the
scope of Article 21 by reading into the fundamental right to life a vision of life which
includes the nurturing force of education. This hermeneutic exercise was widely
hailed as a major advance in the evolution of democratic polity. It was expected that
the court’s interpretation of Article 21 would trigger significant civil activism on behalf
of the educationally deprived. This expectation was not fulfiled as such, but after
several years spent drafting led to the enactment of an amendment in the
Constitution which rendered elementary education an explicitly stated fundamental
right.

The new right granted to children leaves the state free to impart education by any
means that it may by law determine to be suitable for this purpose. During the recent
years we have witnessed the official acceptance of several other alternative modes.
Neither the court nor the parliament have succeeded in making a dent on the
systemic tendency to first devise a cheaper alternative for the poor and then to
promise populist measures to improve it. In the absence of systematic reform, one
cannot hope for clearer perception of stronger will to counter the ideology which
permits childhood to be defined differently for the labouring poor. The State's
responsibility towards these precious, formative year of life has been suitably
accommodated in the amended version of the same Article 45 which had served little
use to achieve the purpose stated in it and which, therefore required the
enhancement of Article 21.

Sub questions

Question Number : 1 Question Id : 9209068094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The three major verdicts given by the Supreme Court mentioned here offer that
1. the constitution allows people to fight cases and win.
2 the hermeneutics in education is about court verdicts
3. the hermeneutics in education is about articulated ideas
4

the constitution allows people to expand the scope of ideas



Options :

92090632001. 1
92090632002. 2
92090632003. 3
92090632004. 4

Question Number : 2 Question Id : 9209068095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Mohini Jain case, the court extended the scope of Article 21. This
several lawyers to file cases for the benefit of children from low socio-economic
background, as hoped.

1. encouraged

2. did not encourage
3. did not dissuade
4. dissuaded

Options :

92090632005. 1
92090632006. 2
92090632007. 3
92090632008. 4

Question Number : 3 Question Id : 9209068096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the author, the court in ensuring that children from poor
families get good quality education.

1. succeeded

2. failed

3. accommodated
4. differentiated

Options :

92090632009. 1
92090632010. 2
92090632011. 3
92090632012. 4



Question Number : 4 Question Id : 9209068097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three major verdicts offer examples of the space available in the
Constitution.

e

interpretive
2 restrictive

3. appreciative
4

legislative

Options :

92090632013. 1
92090632014. 2
92090632015. 3
92090632016. 4

Question Number : 5 Question Id : 9209068098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following words from the passage means rectified?

1. Amended

2 Hermeneutic

3. Fulfilled

4 Alternative
Options :

92090632017. 1
92090632018. 2
92090632019. 3
92090632020. 4

Question Id : 9209068093 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Based on the given passage, answer the questions 1-5:

Three major verdicts given by the Supreme Court during the 1980s and the 1990s
goaded the state to assume greater responsibility in the matter of providing access
to education. These verdicts (Bandhua Mukti Morcha vs the Union of India, 1981;
Mohini Jain vs Karnataka State, 1992; Unnikrishnan vs Andhra Pradesh, 1993)
seemed to offer eminent examples of the hermeneutic space available in the
Constitution, revealing how important it was to read the Constitution imaginatively in
order to crystallize the ideas that may not have been fully articulated. The crowning
exercise of this kind figured in the Mchini Jata case in which the court extended the
scope of Article 21 by reading into the fundamental right to life a vision of life which
includes the nurturing force of education. This hermeneutic exercise was widely
hailed as a major advance in the evolution of democratic polity. It was expected that
the court’s interpretation of Article 21 would trigger significant civil activism on behalf
of the educationally deprived. This expectation was not fulfilled as such, but after
several years spent drafting led to the enactment of an amendment in the
Constitution which rendered elementary education an explicitly stated fundamental
right.

The new right granted to children leaves the state free to impart education by any
means that it may by law determine to be suitable for this purpose. During the recent
years we have witnessed the official acceptance of several other alternative modes.
Meither the court nor the parliament have succeeded in making a dent on the
systemic tendency to first devise a cheaper alternative for the poor and then to
promise populist measures to improve it. In the absence of systematic reform, one
cannot hope for clearer perception of stronger will to counter the ideology which
permits childhood to be defined differently for the labouring poor. The State's
responsibility towards these precious, formative year of life has been suitably
accommodated in the amended version of the same Article 45 which had served little
use to achieve the purpose stated in it and which, therefore required the
enhancement of Article 21.

Sub questions

Question Number : 1 Question Id : 9209068094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The three major verdicts given by the Supreme Court mentioned here offer that

1. the constitution allows people to fight cases and win.
2 the hermeneutics in education is about court verdicts
3. the hermeneutics in education is about articulated ideas
4 the constitution allows people to expand the scope of ideas

Options :

92090632001. 1

92090632002. 2
92090632003. 3



92090632004. 4

Question Number : 2 Question Id : 9209068095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Mohini Jain case, the court extended the scope of Article 21. This
several lawyers to file cases for the benefit of children from low socio-economic
background, as hoped.

1. encouraged

2. did not encourage
3. did not dissuade
4. dissuaded

Options :

92090632005. 1
92090632006. 2
92090632007. 3
92090632008. 4

Question Number : 3 Question Id : 9209068096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the author, the court in ensuring that children from poor
families get good quality education.

1. succeeded

2. failed

3. accommodated
4.

differentiated

Options :

92090632009. 1
92090632010. 2
92090632011. 3
92090632012. 4

Question Number : 4 Question Id : 9209068097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three major verdicts offer examples of the space available in the
Constitution.

e

interpretive
2 restrictive

3. appreciative
4

legislative

Options :

92090632013. 1
92090632014. 2
92090632015. 3
92090632016. 4

Question Number : 5 Question Id : 9209068098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following words from the passage means rectified?

1. Amended

2 Hermeneutic

3. Fulfilled

4 Alternative
Options :

92090632017. 1
92090632018. 2
92090632019. 3
92090632020. 4

Sub-Section Number : 2
Sub-Section Id : 920906256
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209068099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The referee's attention was drawn a player lying prostrate in the centre
circle.

1. an
2 by
3. fto
4 for
Options :

92090632021. 1
92090632022. 2
92090632023. 3
92090632024. 4

Question Number : 6 Question Id : 9209068099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The referee’'s attention was drawn _ a player lying prostrate in the centre
circle.
1. an
2 by
3. to
4 for
Options :

92090632021. 1
92090632022. 2
92090632023. 3
92090632024. 4

Question Number : 7 Question Id : 9209068100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Everyone is entitled to a ticket  of where they came from.
1. irrelevant
2. prerequisite
3. incidental

4. irespective

Options :

92090632025. 1
92090632026. 2
92090632027. 3
92090632028. 4

Question Number : 7 Question Id : 9209068100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Everyone is entitled to a ticket  of where they came from.
1. irrelevant
2. prerequisite
3. incidental

4. irespective

Options :

92090632025. 1
92090632026. 2
92090632027. 3
92090632028. 4

Question Number : 8 Question Id : 9209068101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

She may win and surprise us all but I wouldn't  on it
1. guess

2 back

3. bet

4

stake



Options :

92090632029. 1
92090632030. 2
92090632031. 3
92090632032. 4

Question Number : 8 Question Id : 9209068101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

She may win and surprise us all but | wouldn't  on it.
1. guess
2. back
3. bet
4. stake
Options :

92090632029. 1
92090632030. 2
92090632031. 3
92090632032. 4

Question Number : 9 Question Id : 9209068102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hopesare  of finding the missing boat.
1. darkening
2. going
3. draining
4. fading
Options :

92090632033. 1
92090632034. 2
92090632035. 3
92090632036. 4



Question Number : 9 Question Id : 9209068102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hopesare  of finding the missing boat.
1. darkening
2. going
3. draining
4. fading
Options :

92090632033. 1
92090632034. 2
92090632035. 3
92090632036. 4

Question Number : 10 Question Id : 9209068103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This latest of meningitis eclipses any other disease over the past few
years.

1.  breakout
2 outbreak
3. offset
4

outburst

Options :

92090632037. 1
92090632038. 2
92090632039. 3
92090632040. 4

Question Number : 10 Question Id : 9209068103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This latest of meningitis eclipses any other disease over the past few
years.

1. breakout
2. outbreak
3. offset
4

outburst

Options :

92090632037. 1
92090632038. 2
92090632039. 3
92090632040. 4

Question Number : 11 Question Id : 9209068104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

His happy go lucky attitude means that on the field he exhibits a
disregard.

1. flagrant

2. required

3. glaring

4. permissible

Options :

92090632041. 1
92090632042. 2
92090632043. 3
92090632044. 4

Question Number : 11 Question Id : 9209068104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



His happy go lucky attitude means that on the field he exhibits a
disregard.

1. flagrant
2. required
3. glaring

4. permissible

Options :

92090632041. 1
92090632042. 2
92090632043. 3
92090632044. 4

Question Number : 12 Question Id : 9209068105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The silver medalist was later for running outside her lane.

—_

banned
2 disqualified
3. disallowed
4

outlawed

Options :

92090632045. 1
92090632046. 2
92090632047. 3
92090632048. 4

Question Number : 12 Question Id : 9209068105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The silver medalist was later for running outside her lane.

—

banned
2 disqualified
3. disallowed
4

outlawed

Options :

92090632045. 1
92090632046. 2
92090632047. 3
92090632048. 4

Question Number : 13 Question Id : 9209068106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There has been a phenomenal in cease in the number of mobile in recent
years. Choose the correct options for the underline word.

1.  Incidental

2 Natural

A Extraordinary
4

Continues

Options :

92090632049. 1
92090632050. 2
92090632051. 3
92090632052. 4

Question Number : 13 Question Id : 9209068106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There has been a phenomenal in cease in the number of mobile in recent
years. Choose the correct options for the underline word.

1.  Incidental

2 Natural

3.  bxtraordinary
-+ Continues

Options :

92090632049. 1
92090632050. 2
92090632051. 3
92090632052. 4

Question Number : 14 Question Id : 9209068107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeding car only missed us by a hair's

1.  width

2. high

3. length

-+ breadth
Options :

92090632053. 1
92090632054. 2
92090632055. 3
92090632056. 4

Question Number : 14 Question Id : 9209068107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speeding car only missed us by a hair's

1.  width

2. high

3. length

-+ breadth
Options :

92090632053. 1
92090632054. 2
92090632055. 3
92090632056. 4

Question Number : 15 Question Id : 9209068108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

We areintwo minds astohowto  with these latest problems.
1. little
2. tackle
3. deal
+ handle
Options :

92090632057. 1
92090632058. 2
92090632059. 3
92090632060. 4

Question Number : 15 Question Id : 9209068108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



We are in two minds as to how to with these latest problems.

1. little

2. tackle

3. deal

4. handle
Options :

92090632057. 1
92090632058. 2
92090632059. 3
92090632060. 4

Question Number : 16 Question Id : 9209068109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

lam _ the opinion that nothing we say, will change anything at all.
1. in
2 of
3. after
4. with
Options :

92090632061. 1
92090632062. 2
92090632063. 3
92090632064. 4

Question Number : 16 Question Id : 9209068109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| am the opinion that nothing we say, will change anything at all.

1. in

2 of

3. after

4 with
Options :

92090632061. 1
92090632062. 2
92090632063. 3
92090632064. 4

Question Number : 17 Question Id : 9209068110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

We should have foreseen the consequences from the

1. outset

2. outcast

3. offcut

4. onset
Options :

92090632065. 1
92090632066. 2
92090632067. 3
92090632068. 4

Question Number : 17 Question Id : 9209068110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



We should have foreseen the consequences from the

1. outset

2. outcast

3. offcut

4. onset
Options :

92090632065. 1
92090632066. 2
92090632067. 3
92090632068. 4

Question Number : 18 Question Id : 9209068111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As far as costs , there is little difference between the two opinions.
1. matter

2 concem

3. go
4. make
Options :

92090632069. 1
92090632070. 2
92090632071. 3
92090632072. 4

Question Number : 18 Question Id : 9209068111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Asfarascosts | there is little difference between the two opinions.
1.  matter
2. concem
3. go

4. make
Options :



92090632069. 1
92090632070. 2
92090632071. 3
92090632072. 4

Question Number : 19 Question Id : 9209068112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secretary was __ to tears by the manager’'s behaviour.
1.  brought down
2. diminished
3. reduced
4. belittled

Options :

92090632073. 1
92090632074. 2
92090632075. 3
92090632076. 4

Question Number : 19 Question Id : 9209068112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The secretary was to tears by the manager’s behaviour.
1.  brought down
2. diminished

A reduced

4. Dbelittled

Options :

92090632073. 1
92090632074. 2
92090632075. 3
92090632076. 4

Question Number : 20 Question Id : 9209068113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The effect of the anaesthetic after a couple of hours.
1. wiped out
2 finished off
3. dredup
4 wore off
Options :
92090632077. 1
92090632078. 2

92090632079. 3
92090632080. 4

Question Number : 20 Question Id : 9209068113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The effect of the anaesthetic after a couple of hours.
1. wiped out
2 finished off
3. driedup
-+ wore off
Options :
92090632077. 1
92090632078. 2

92090632079. 3
92090632080. 4

Question Number : 21 Question Id : 9209068114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



We were forced to our account because of financial pressures.

1. end

2. fold

3. break-off

4. close
Options :

92090632081. 1
92090632082. 2
92090632083. 3
92090632084. 4

Question Number : 21 Question Id : 9209068114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

We were forcedto  our account because of financial pressures.
1. end
2. fold
3. break-off
4 close
Options :

92090632081. 1
92090632082. 2
92090632083. 3
92090632084. 4

Question Number : 22 Question Id : 9209068115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If | don't believe there'sa  of evidence that could be held against him.
1. grain
2 shred
3. drop
4. strain



Options :

92090632085. 1
92090632086. 2
92090632087. 3
92090632088. 4

Question Number : 22 Question Id : 9209068115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If | don't believe there'sa  of evidence that could be held against him.
1. grain
2. shred
3. drop
4. strain
Options :

92090632085. 1
92090632086. 2
92090632087. 3
92090632088. 4

Question Number : 23 Question Id : 9209068116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

These people arein _ need of help, | can tell you.
1. short
2 dire
3. big
4.  full
Options :

92090632089. 1
92090632090. 2
92090632091. 3
92090632092. 4

Question Number : 23 Question Id : 9209068116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

These people arein _ need of help, | can tell you.
1. short
2 dire
3. big
4. full
Options :

92090632089. 1
92090632090. 2
92090632091. 3
92090632092. 4

Question Number : 24 Question Id : 9209068117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There'sa  of stars below the pole star that has always fascinated me.
1. Cluster
2 set
3. crowd
4. gathering
Options :

92090632093. 1
92090632094. 2
92090632095. 3
92090632096. 4

Question Number : 24 Question Id : 9209068117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There's a of stars below the pole star that has always fascinated me.

1. Cluster

2. set

3. crowd

4. gathering
Options :

92090632093. 1
92090632094. 2
92090632095. 3
92090632096. 4

Question Number : 25 Question Id : 9209068118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| feel we should adopt his final words asour  light.
1. leading
2 glowing
3. guiding
o) gleaming
Options :

92090632097. 1
92090632098. 2
92090632099. 3
92090632100. 4

Question Number : 25 Question Id : 9209068118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| feel we should adopt his final words as our light.

1. leading

2 glowing

3. guiding

4 gleaming
Options :

92090632097. 1
92090632098. 2
92090632099. 3
92090632100. 4

Part B
Section Id : 920906162
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 67
Number of Questions to be attempted : 67
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906257
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 9209068119 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension



Based on the given passage, answer the questions 26-30 :

The court has made dissection of animals optional for biclogy students. | wonder if
another court order can be sought to make observation of nature a requirement for
science study. A student can get through school with shining success without
developing the ability to notice details in natural phenomena. There are children
whose entire knowledge of nature comes from books, the blackboard, and a few
laboratory experiments. In the case of some, we can add a computer monitor. | wish
the science syllabi might include a reading of the King Solomon’s Ring, a delightful
classic on animal behaviour and Jungle and Backyard, a collection of essays by the
late M. Krishnan. It is a pity our children get no taste of the pleasure that careful
observation of a cat, a fish, or a tree in natural circumstances can bring.

Books which are not fortunate enough to gain the status of textbooks mean nothing
in our system. Otherwise, a remarkable book on trees written by Chakravarti S.
Venkatesh would have made an impact. The kind of leisure it demands, and the
freedom to connect things in one's mind, it assumes, have no place in our schools
because they are fixated on textbook-based examination.

| recall meeting a large group of children outside the wolf's compound in the Tokyo
Zoo. Several hours later. | noticed the children and their teacher still busy with the
wolf. They had spent the day watching every part and behaviour of the wolf, taking
notes and comparing their observations with those given in the books they were
carrying.

Our children, of course, never get this kind of opportunity or training. A visit to the
zoo means everything, just as our syllabi provide a cursory, whirlwind coverage of
every topic and fact. A group of children was rushing past the photo exhibition at the
Sabarmati Ashram. Two boys managed to stop at a picture for a few minutes,
noticing something unusual in it. As | watched in horror, one of the teachers came
back looking for the boys and the first thing she did on finding them was to slap and
scold them for staying behind. Anyone who has hung around school corridors would
know that teachers give priority to maintaining group discipline over appreciating
individual curiosity or effort.

Sub questions

Question Number : 26 Question Id : 9209068120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Children whose entire knowledge of nature come from books, the blackboard,
and a few laboratory experiments along with a computer monitor, their
understanding of nature is

1. devoid of skills

2. devoid of syllabi
3. devoid of reading
4

devoid of pleasure

Options :
92090632101. 1



92090632102. 2
92090632103. 3
92090632104. 4

Question Number : 27 Question Id : 9209068121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Tokyo Zoo incident describe by the author, the children learnt to
1. be sensitive to animals and conscious about their body parts
2.  be proficient in animal studies and zoo related behaviour

3. observe animals’ behaviour and form and make comparison.

4.

give respect to animals by spending time in the zoo

Options :

92090632105. 1
92090632106. 2
92090632107. 3
92090632108. 4

Question Number : 28 Question Id : 9209068122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a teacher uses books other than the textbooks in the class, his/her effort will
1. make the burden on children to connect things in their mind
2. give an opportunity of leisurely and free leaming
3. create fortune for the students to get more books
4.

give rise to a remarkable fixation about books and textbooks

Options :

92090632109. 1
92090632110. 2
92090632111. 3
92090632112. 4

Question Number : 29 Question Id : 9209068123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A good learning opportunity should provide
1.  an opportunity of free and relaxed investigation and observation
2 a cursory, whirlwind coverage of every topic and fact
3. a prioritised opportunity of group discipline and curiosity
4

an experience of whirlwind investigation and observation.

Options :

92090632113. 1
92090632114. 2
92090632115. 3
92090632116. 4

Question Number : 30 Question Id : 9209068124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
To make observation of nature a requirement for science study-
1.  an acceptance of the idea is needed
2. acourt order is needed
3. adisciplinarian teacher is needed
4

a collection of books is needed

Options :

92090632117. 1
92090632118. 2
92090632119. 3
92090632120. 4

Question Id : 9209068119 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 9209068120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. PREfEEE
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Options :

92090632101. 1
92090632102. 2
92090632103. 3
92090632104. 4

Question Number : 27 Question Id : 9209068121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632105. 1
92090632106. 2
92090632107. 3
92090632108. 4

Question Number : 28 Question Id : 9209068122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ofs $15 Rrere Hen ¥ urgy-yws! & sfaflta sg geas! &1 Iuah sar g, at
39F T

1. BE W A g | el 9 Ydy wifid & &1 @i gren

2. JRAUTHaR 9u gad T &7 sfaw &1

3. ¥ qEadh UIed SR & fore &=l ot g fAftfa w8

4, TP aUl UIEI-IKS! & R &1 SRIYR0 FY9 § Fgra &

Options :

92090632109. 1
92090632110. 2
92090632111. 3
92090632112. 4

Question Number : 29 Question Id : 9209068123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632113. 1
92090632114. 2
92090632115. 3
92090632116. 4

Question Number : 30 Question Id : 9209068124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632117. 1

92090632118. 2

92090632119. 3
92090632120. 4

Sub-Section Number : 2
Sub-Section Id : 920906258
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 9209068125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension



Based on the given passage, answer the questions 31-35:

We were nearly finished with listening to everybody's moming life when a myna
came in, sat on the ceiling fan and started chattering loudly. Mala looked at her and
said, “Sir, she too wants to talk about her morning routine!”. This was a fine
statement coming from Mala who was feeling a little inane since she had no special
morning narrative to offer as a hosteller. Her remark cheered her up and everybody
else too. It gave me an interesting idea which vaguely reflected the topic we had
abandoned. | asked, ‘how far do you think this myna has come from?' No one took
this question seriously, but it propelled me to go a step further, ‘what else is present
in our class that might have come from afar?' It was obvious that | was now referring
to non-human participants but were they living or non-living? This question came
from Rupal, one of the habitual late comers. ‘Never mind', | said, 'say whatever you
notice'. She surprised everybody by saying that the electricity come from God knows
where. Two students immediately intervened. ‘you know it is coming from thermal
power station’. “It might be coming from the national grid—it is all connected, you
know." There was silence. Even the myna turned quiet. My job in such moments
came down to prompting further, so | said, ‘That's a great thought. Let us see if there
are any other long-distance participants in our class.’

My students started spotting things at a wild, inspired speed. Dust on the desks! The
airl The sound of traffic! The dust seemed to have travelled the longest distance
indeed—from Rajasthan as everybody thought. | was ready to conclude. "So, is that
the longest commuter?” We were uncertain, but not quite ready to let the quest die.
Jaya said "The sun has travelled lakhs of miles.” | was stunned. So was everyone
else. We had become aware of a phenomenon we had never thought about, how the
sun came from so far away to make our class happen. The unpredicted outcomes of
learning are far more important than the ones we can predict and plan for.

Sub questions

Question Number : 31 Question Id : 9209068126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The teacher repeatedly asks children to think of more long distance commuters.
Which of the following describes the teacher's approach more appropriately?

1. Asking several questions

2.  Making students think

3. Not satisfied by any answer
4

Mot responding to students’ queries

Options :

92090632121. 1
92090632122. 2
92090632123. 3
92090632124. 4



Question Number : 32 Question Id : 9209068127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The children asked several questions in this class which of the following best
describes children’s attitude?

1. Participatory
i Bothersome
3.  Hyperactive

4 Maughty

Options :

92090632125. 1
92090632126. 2
92090632127. 3
92090632128. 4

Question Number : 33 Question Id : 9209068128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The teacher opened the discussion on long-distance commuters by asking
about the myna. This shows his ability to

1.  ask multiple questions about long distance commuters

2 help children arrive at the correct answer to his questions
3. utilize unexpected learmning opportunities in the classroom
4 use birds as a teaching learning material

Options :

92090632129. 1
92090632130. 2
92090632131. 3
92090632132. 4

Question Number : 34 Question Id : 9209068129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The students were talking a lot in this class. Which word describes the teacher
best?

1.  Unplanned
2. Talkative
3. Democratic
4

Fleasant

Options :

92090632133. 1
92090632134.2
92090632135. 3
92090632136. 4

Question Number : 35 Question Id : 9209068130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By addressing, dust, air, sound and the sunlight as long distance participants,
the teacher

1. entertained his students

2 expanded his students thought
3. cheered up his students
4

reduced the shame of coming late

Options :

92090632137. 1
92090632138. 2
92090632139. 3
92090632140. 4

Question Id : 9209068125 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 9209068126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090632121. 1



92090632122. 2
92090632123. 3
92090632124. 4

Question Number : 32 Question Id : 9209068127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632125. 1
92090632126. 2
92090632127. 3
92090632128. 4

Question Number : 33 Question Id : 9209068128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632129. 1
92090632130. 2
92090632131.3
92090632132. 4



Question Number : 34 Question Id : 9209068129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632133. 1
92090632134. 2
92090632135. 3
92090632136. 4

Question Number : 35 Question Id : 9209068130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632137. 1
92090632138. 2
92090632139. 3
92090632140. 4

Sub-Section Number : 3
Sub-Section Id : 920906259
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 9209068131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If young children listen to stories told by different people, they begin to... them
1. discriminate and select between
2 differentiate and evaluate
3. discriminate and reject
4 differentiate and interpret

Options :

92090632141. 1
92090632142. 2
92090632143. 3
92090632144. 4

Question Number : 36 Question Id : 9209068131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632141. 1
92090632142. 2
92090632143.3
92090632144. 4

Question Number : 37 Question Id : 9209068132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is not correct?

1. Learning is influenced by the social context from which the teachers
come

2.  The key role of a teacher is as a facilitator and supporter of learning
3. Teacher needs to recognize herself as the only source of learning

4. Teacher is a participant in the learner's efforts at evolving learning
experiences

Options :

92090632145. 1
92090632146. 2
92090632147. 3
92090632148. 4

Question Number : 37 Question Id : 9209068132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632145. 1
92090632146. 2
92090632147. 3
92090632148. 4

Question Number : 38 Question Id : 9209068133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the status given to Hindi language by the Constitution in India in
Article 343 (1)?

1. Link language

2. Official language
3. Heritage language
4. Modern Language

Options :

92090632149. 1
92090632150. 2
92090632151. 3
92090632152. 4

Question Number : 38 Question Id : 9209068133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090632149. 1
92090632150. 2
92090632151. 3
92090632152. 4

Question Number : 39 Question Id : 9209068134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



All teachers must take their students to different kinds of museums on science,
history crafts and others. A museum'’s greatest value is that the students feel
curious about the world. For that, it is important that the children

1.  are strictly supervised by the teacher

2 admire the exhibits fully and spend time with them independtly
3. are given a very specific mandate at the beginning
4

learn about each and every exhibit and write about them.

Options :

92090632153. 1
92090632154. 2
92090632155. 3
92090632156. 4

Question Number : 39 Question Id : 9209068134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot Rrerst Y oA B &1 s, sfaery, fRrea aur o yeR & fafis dugred
T A ST 1R U YUeTer 1 Ul I Ued Ug ¢ [ Rranf iy & fawg F @R
# I & od & | 39 fore a8 wewyul §

1. BHE o1 e gR Forda 9 e fear s
2. @ velia ol & 9y g ardld 3 SR Wda 9 9 3@ v
G

3. B & uRM H us sifa fafdy srew fgar s
4.  BEUAS UalRid a5g & favg & SHeR e & aur 39 fad

Options :

92090632153. 1
92090632154. 2
92090632155. 3
92090632156. 4

Question Number : 40 Question Id : 9209068135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E. K. Janaki Ammal was the first Indian woman to be awarded a Ph.D in the
botanical sciences. Her first expansive archive—based analytical biography has
recently been published. What is its title?

1. Chromosome Woman, Nomad Scientist

2. Phytogeography Woman, Wave Scientist
3. Ethnobotany Woman, Dynamic Scientist
4.

Cytology Woman, Vagrant Scientist

Options :

92090632157. 1
92090632158. 2
92090632159. 3
92090632160. 4

Question Number : 40 Question Id : 9209068135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. &. D! T UYH R Aigen 4 {5 a1wafa 2ra & siqee (Ph. D) &1
JUITY UaH &t 751 IADT UuH fa%gd RierE meiid fawewonrers sfia and
aiaE H g UahIfRid g3 8| 39T Side & g2

1. PR gEE, i e
> G g og b
3. TuHEe- giF, SIS UERE
4. wrgdrat gaF, dRe wRfew

Options :

92090632157. 1
92090632158. 2
92090632159. 3
92090632160. 4

Question Number : 41 Question Id : 9209068136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The UN Convention on the Rights of the Child (CRC) which requires the state
to protect the child from all forms of physical and mental violence and from
torture and others cruel or degrading punishments or treatments was acceded
by India in

1. 1989
2. 1992
3. 2009
4. 2006
Options :

92090632161. 1
92090632162. 2
92090632163. 3
92090632164. 4

Question Number : 41 Question Id : 9209068136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T=ll & USRI (CRC) & fdwd # dgad AP FrieH H, g=df 31 IH YR @l
RING 9 AR fgar, Iadie= aur 3 $X °1 UaHY-S ¢8 dul ddeR 9 I
&1 Y& UGTH & UX 9gHld g3, 98 HRa 4 fara a9 9§92

1. 1989
2. 1992
3. 2009
4. 2006
Options :

92090632161. 1
92090632162. 2
92090632163. 3
92090632164. 4

Question Number : 42 Question Id : 9209068137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Mahashweta Devi's"Why—Why Girl, the little girl Moina, belongs to which
tribal group?

1. Bhils from Rajasthan

2. (Gonds from Madhya Pradesh

3. Santhals from Chota Nagpur Region
4.

Sabars from West Bengal

Options :

92090632165. 1
92090632166. 2
92090632167. 3
92090632168. 4

Question Number : 42 Question Id : 9209068137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

He1ddl &4t & 9ra-ag o § B age! HigAr b snfdarht gy | wdfta €7
1. Yo & i
2. HAUCIFH S
3. BT ANYR &3 & Hud
4. W §ME F e

Options :

92090632165. 1
92090632166. 2
92090632167. 3
92090632168. 4

Question Number : 43 Question Id : 9209068138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“The State of the World's Children” report is published by

1. UNESCO

2.  UNICEF

3.  UNIDO

4. UPU
Options :

92090632169. 1
92090632170. 2
92090632171. 3
92090632172. 4

Question Number : 43 Question Id : 9209068138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fay & w=if =1 fufd 1 U 1 feg e fean

1. gl

2. YW®

3. sl

4. g ULy
Options :

92090632169. 1
92090632170. 2
92090632171. 3
92090632172. 4

Question Number : 44 Question Id : 9209068139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Teachers must take their students to museums regularly. Any museum's
greatest value to a child is to arouse his curiosity so that they wish to penetrate
even more deeply to grasp what they see in the museum. If they get a chance

to admire the things in their own good time, they are likely to develop a feeling
of the world.

1. awe for the wonders of

2. having learnt about things in

3.  having mastered important things in
4.

Knowing the School syllabus

Options :

92090632173. 1
92090632174. 2
92090632175. 3
92090632176. 4

Question Number : 44 Question Id : 9209068139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 3o BT 1 Fafid a4 @ Yugrer # o S =ifee ) foa +ff dugread
P US g & fo galfs € 3B IgBd B Ad B! R b a8
TueTer | T o arel! Trelt 31 ofR 4Rt siftre TeRTs @ we 9 g1 | afe
I8 A0 gy H aegail ) Ui 9 &1 e A dr g fay s ———
! Hig1 [Afd g1 &l

1. ozl & ford faf@rd g

2. agl wifdd arht & fawg & SHer T S
3. ggf wifd weayyl Il & udsdr Ui S
4. faeera & urgTsd & IR H Sl

Options :

92090632173. 1
92090632174. 2
92090632175. 3
92090632176. 4

Question Number : 45 Question Id : 9209068140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UNESCO preserves World Heritage sites in 167 countries

1. 3100
2. 3762
3. 1073
4. 2551
Options :

92090632177. 1
92090632178. 2
92090632179. 3
92090632180. 4

Question Number : 45 Question Id : 9209068140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 167 SR A fay urmfes el & kféra svar 8

1. 3100
2. 3762
3. 1073
4. 2551
Options :

92090632177. 1
92090632178. 2
92090632179. 3
92090632180. 4

Question Number : 46 Question Id : 9209068141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List the names of Gandhi Peace Prize winners in the chronological order from
oldest to latest.

A. Chandi Prasad Bhau

Dr. John Hume
Ram Krishna Mission

Dr. Nelson Mandela

m 29 0 m

Baba Amte
Choose the correct answer from the options given below :
1. ABCDE
2. ADBCE
3 GEDBA
4. D,B,C,EA

Options :

92090632181. 1
92090632182. 2
92090632183. 3
92090632184. 4

Question Number : 46 Question Id : 9209068141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mt 2t R fasrarsii & =l &) A @ 7dH 3 R A 91 §U ST HER
afRYd BN

A, didl UIE WIS

B. Sl dHggH
c. W fEH
D. S A& Haam
E. a3
-1 fau g el # @ | IR &1 97 B -

1. A,B,C,D,E
2 ADB.CE
3. CEDBA

4. D,B,CEA

Options :

92090632181. 1
92090632182. 2
92090632183. 3
92090632184. 4

Question Number : 47 Question Id : 9209068142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—| : Rabindra Nath Tagore was the first person to receive Noble
prize for India.

Statements—Il : The first distribution of the Nobel prizes took place on
December 10, 1901, on the fifth anniversary of Nobel's
death.

In the light of the above statements, choose the correct answer from the
options given below.

1.  Both Statement—I and Statement—I| are true
2. Both Statement—I and Statement—I| are false
3. Statement—I is true but Statement—I| is false
4

Statement—I is false but Statement—Il is true

Options :

92090632185. 1
92090632186. 2
92090632187. 3
92090632188. 4

Question Number : 47 Question Id : 9209068142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FyERUmE:

YT : EE A IR Fiaw REBR U S d1dl Ugd YR o |

®YF— ;e DI diad! s o iR 10, 1901 P, UEd Aldd REBR B
faawor gan|

U Hul F reie #, 12 fag o e # O Wt 3w &1 954 I
1. FYT— IR FYA T TA &
2. YT AR FYA—I S A &
3. PYT— A ¢, Afb FUT—1 A §

4,  DYT—| Y g, Afh- YT I &

Options :
92090632185. 1
92090632186. 2



92090632187. 3
92090632188. 4

Question Number : 48 Question Id : 9209068143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : The New Education Policy 2020 aims to pave way for
transformational reforms in school and higher education
systems in the country.

Reason (R) : Today education is considered pivotal for social and
economic development through development of human
resources.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632189. 1
92090632190. 2
92090632191. 3
92090632192. 4

Question Number : 48 Question Id : 9209068143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I @ Ty fRu e &, e @ ww sfimy (o) & wu H fifda @ o g SO
HRU(R) HFH :

sfiy (a) - 13 Rien ifa 2020, <x © faeradt aur S fen sgawursfi |
RIS URT & fore anf yerd #=4 & o aféa 81

FHRUI (R) - gaa | e &1 9ra dareE & fae & grn amfoe aur
N fasra & fore H=fg W wiran g1

SuE HYAl F et H, [ G e faeed ¥ wew Iuge W &1 994

1. (A) 3R (R) GHT TE1 € 3R (R), (A) F! UL T §

2. (A) 3R (R) GHT O §, A (R), (A) Bt rem T R
3. () U@ A (R) U A '

a. () TR R A (r) Wt @

Options :

92090632189. 1
92090632190. 2
92090632191. 3
92090632192. 4

Question Number : 49 Question Id : 9209068144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : After pandemic, it was assumed that learning will never be
same again, everyone wanted children back in school.
Teaching is more likely to move to a blended leaming
format.

Reason (R) : The New Education policy in India and the ‘concept note on
blended learning’ which UGC brought out in May 2020, both
leave enough room for entire learning

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A} is correct but (R) is not correct
4.  (A)is not correct but (R) is correct

Options :

92090632193. 1
92090632194. 2
92090632195. 3
92090632196. 4

Question Number : 49 Question Id : 9209068144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I @ w1 Ry e €, o § v siftrey (a) & w0 ¥ fafea § @ gom 9us
PRU(R) S EUH :

iy (a) ¢ faywrd & are Tan wEn o e ot i st uge o @it 9
g1 e, It @ a=t &) arfug faenag d Yo ared 91 e
glﬁfﬁﬁamwaﬁw YR g1 & forw sifere dwifaa

a

PRI (R) - HURd # =75 fRren Aifa aur s eiftrm & fawg o s@umon
feopoft, ford 7. oft. <t g1 € 2020 ® g e T
iy sfferm & forg ol S/EeR verH & &

I9d Syl & e | A QU T faedd 7 O e Suged SR &1 994
HIfoT -

1. ()RR IR T 3R R), (A) T T ST

2. (M) 3R R I T, AR R), (A) P T RN T R
3. (A) e g A (R) W AR

4. (A) 9 el § A (R) WEI @

Options :

92090632193. 1
92090632194. 2
92090632195. 3
92090632196. 4

Question Number : 50 Question Id : 9209068145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The UN adopted the declaration of Human Rights in
1. July 1950
2.  November 1958
3. December 1949
4.

December 1848

Options :

92090632197. 1
92090632198. 2
92090632199. 3
92090632200. 4



Question Number : 50 Question Id : 9209068145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG Y Y A A AUDRT B! N Bl e U1

1. 9dls 1950

2. Id%eR 1958

3. fqumar 1949

4. feuray 1948
Options :

92090632197. 1
92090632198. 2
92090632199. 3
92090632200. 4

Question Number : 51 Question Id : 9209068146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

*Konark Samman” is given for the significant contribution in the field of
1. Indian Cinema

2 Medicine

3. Literature

4

Arts

Options :

92090632201. 1
92090632202. 2
92090632203. 3
92090632204. 4

Question Number : 51 Question Id : 9209068146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PG A F {59 & 7 wewaqef girer & fre faar S 82

1. HURdE R
2. fafeam
3. wifed
4. &dl
Options :

92090632201. 1
92090632202. 2
92090632203. 3
92090632204. 4

Question Number : 52 Question Id : 9209068147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wha is the first Indian to receive Gold Medal in Athletics in Tokyo Qlympics?
1. P.I. Usha
2. Rishabh Shukla
3. Abhinav Bindra

4. Neeraj Chopla
Options :
92090632205. 1
92090632206. 2
92090632207. 3
92090632208. 4

Question Number : 52 Question Id : 9209068147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gﬁmmﬁ—mrﬁmﬁmmmﬁmwm

1. WA FwW

2. HBEH LI

3. afftrFa fagw

R 0 1
Options :

92090632205. 1
92090632206. 2
92090632207. 3
92090632208. 4

Question Number : 53 Question Id : 9209068148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous children's film The Blue Umbrella, released in 2005, is based on a
novel written by

1. Prem Chand
2.  Dhan Gopal Mukeriji
3. Ruskin Bond

4. Roald Dahl

Options :

92090632209. 1
92090632210. 2
92090632211. 3
92090632212. 4

Question Number : 53 Question Id : 9209068148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥ 2005 # yurivd uflig a1a e g &g sislar feuss gR1 ford o Iu=amd W
3mefyd &2

1. UHEE

2. tF TigTd gl

3. A

4. S <gd
Options :

92090632209. 1
92090632210. 2
92090632211. 3
92090632212. 4

Question Number : 54 Question Id : 9209068149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the famous story, "Brahmarakshas ka Shishya" by Muktibodh, the teacher
1. becomes a demon because he had misused his knowledge
2 he had a fierce demonic spirit and personality
3.  he had done evil things in his life and sought salvation
4

becomes a demon because he had no student to teach

Options :

92090632213. 1
92090632214. 2
92090632215. 3
92090632216. 4

Question Number : 54 Question Id : 9209068149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fdaite GRT ferdl i el werier &1 Ry 1, fRige
1. U &Y &9 Sl ¢ Fifd I 397 I &1 gowanT fovan g
2. &P GER ey 3a 3R afdaa §
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Options :

92090632213. 1
92090632214. 2
92090632215. 3
92090632216. 4

Question Number : 55 Question Id : 9209068150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match the ‘Dates’ in List—I| with the 'Days’ in List-I :

List-I List-II
(Dates) (Days)
(A) | 5th October () | World Literacy Day
(B) | 4th January (I1) | International Day of
Education

(C) | 24th January (1) | World Braille Day

(D) | 8th September | (IV) | World Teachers Day

Choose the correct answer from the options given below :
1. (A=) (B)(ll); (C)-(1); (D)-(1V)
2. (A-(V); (B)-(1N); (C)-(11); (D))
3. (A-(VY: (B)-(); (C)-(1); (D)-(I)
4. (A=(); B)II); (C-(I); (D)=(IV)

Options :

92090632217. 1
92090632218. 2
92090632219. 3
92090632220. 4



Question Number : 55 Question Id : 9209068150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G- & iy Galt-1 &1 e Sifse
G-I -l
(i) (EER)!
A | 5o | () | oy werd lRew
8) |45Fad | () | SicRig e feaw
(€ |24l | (i) | fay o faaw
D) |8 R | (v) |3y i fgw

1= feu v fawedi # 9 wdt IR &1 9u Bifou
1. (AN B-1); (O-(I); (D)-1V)
2. (A-(V); (B)=(In); (C-(1n); (D))
3. (AHIV); (B (C)-(1); (D))
4. (AH0; (B)-I); (C-(m); (D)—IV)

Options :

92090632217. 1
92090632218. 2
92090632219. 3
92090632220. 4

Question Number : 56 Question Id : 9209068151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the 'Organizations’ in List—=Il with the ‘Head Quarters’ in List=Il :

List-I List—lI
(Organizations) (Head Quarters)
(A) | ASEAN () | Geneva
(B) | SAARC (1) | Jakarta
(C) | UNCTAD () | Nepal
(D) | OPEC (IV) | Vienna

Choose the correct answer from the options given below
1. (A (BI): (CHII); (D)(1V)
2. (AH(IVY: (B)=(): (C)=(1): (D)1
3. (A (BY(I); (CH(IV); (D1
4. (A1) (B)(I); (CH(1): (Dy-(1V)

Options :

92090632221. 1
92090632222. 2
92090632223. 3
92090632224. 4

Question Number : 56 Question Id : 9209068151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gell-1 & iy Gelt-11 &1 e Sifse

- -

(wTe) (FSTer)
(A) | ASEAN () | S
(B) | SAARC (n | Sl

(C) | UNCTAD (i | =re

(D) | OPEC avy | &8

41 feu v fawedt # 4 wdt 39 &1 9u- Bifou

1. (A) (I); (B) (H); (C) (1l); (D) (IV)

2. (A)IV); (B)=(I; (Q=(1); (D))
3. (A); (BY=(); (CH(IV); (D))
4. (A1 (B=(; (CD); (D)HIV)

Options :

92090632221. 1
92090632222. 2
92090632223. 3
92090632224. 4

Question Number : 57 Question Id : 9209068152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which response is right for the given Venn diagram (shaded portion)?

)

\B/
1. AnC
2 AmB

3. (AuB)uC

4. AuC
Options :



92090632225. 1
92090632226. 2
92090632227. 3
92090632228. 4

Question Number : 57 Question Id : 9209068152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu e 34 o (@Tdd &) 1 9 ST 1 82
U
G4
\B/
1 AnC
2. AmB

3. (AuB)uUC
4. AuC

Options :

92090632225. 1
92090632226. 2
92090632227. 3
92090632228. 4

Question Number : 58 Question Id : 9209068153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the median of the given data?

2,:3.5.0,8,13, 4

1. 0

2. 45

3. 4

4. 5
Options :

92090632229. 1
92090632230. 2



92090632231. 3
92090632232. 4

Question Number : 58 Question Id : 9209068153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau 1w srer 7 wifeeT &1 1 & 87

2.:3:9:0,8, 13,4

1. B
2. 45
3. 4
4. 5
Options :

92090632229. 1
92090632230. 2
92090632231. 3
92090632232. 4

Question Number : 59 Question Id : 9209068154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of length and Breadth of a rectangle is 4 : 1 and its area is 64 om?
then what will be the value of length and Breadth of the rectangle?

1. 16 cm and 4 cm
2 4 cmand 1 cm
3. 4cmand 16 cm
4 16 em and 4 cm
Options :
92090632233. 1
92090632234. 2

92090632235. 3
92090632236. 4

Question Number : 59 Question Id : 9209068154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

afe U 3RId &1 TFaTg 3R SIS BT 0T 41 178 3R IHBT 495 64 8. 112 8,
d JHTId P raTs IR SIS B A T G

1. 168 M R4
2. 49 aR1A A
3. 487 siR169
4. 16 SR SR 4. M,

Options :

92090632233. 1
92090632234. 2
92090632235. 3
92090632236. 4

Question Number : 60 Question Id : 9209068155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the distance between point P(1, -2, 4)and Q(4, -2, 1)in a 3-D plane?

1.  Yunit

2. 1,f2 unit

3. 342 unit

4. 23 unit
Options :

92090632237. 1
92090632238. 2
92090632239. 3
92090632240. 4

Question Number : 60 Question Id : 9209068155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fiig P(1, -2 4) 3R Q(4, -2 1) % o= I emarfird aa & @ g8 gnfiz

1. 9 HE®
2. 92 HEAS
3. 3.2 A&
4, 23 HES
Options :

92090632237. 1
92090632238. 2
92090632239. 3
92090632240. 4

Question Number : 61 Question Id : 9209068156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f:[a, b] - R be a continuous function on [a, b] and differentiable on (a, b),
then there exists some e in (a, b) such that

f(b)-f(a)

§ e =

This theorem in named
1 Mean value theorem
Roll's theorem

2
3. Central limit theorem
4

Binomial theorem

Options :

92090632241. 1
92090632242. 2
92090632243. 3
92090632244. 4

Question Number : 61 Question Id : 9209068156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WM f:[a, b] > R [a b] W U Hdd Bad g 3R (a, b) W AdHa-14 g, dd (a. b)
HU®H e SufRa &, o i

Fle)= f[bg:f{a}
39 YUY &1 R Fed &7
1. O AF T (@ deg wia)
2. AdHI UG
3. "y O Uy (@cd fafie gy
4. e &1 yAg
Options :

92090632241. 1
92090632242. 2
92090632243. 3
92090632244. 4

Question Number : 62 Question Id : 9209068157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : Two plus two equals four.
Reason (R) : The sum of two positive Integers is a positive Integer.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct
Options :
92090632245. 1

92090632246. 2
92090632247. 3



92090632248. 4

Question Number : 62 Question Id : 9209068157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @ w1 R e €, e § v sfirey (A) & w0 ¥ fafea § @ gom 3uF
HRUT(R) & FUH

MMEE @) . FARJIREAE
HRI (R) - 3 yeTe quf deemrait &1 ant e qof den il 8
ﬂauﬁﬁmﬁ,ﬁmmﬁaﬁﬁﬁ%mmmﬁw

1. (&) 3R (R) GHI & € SR (R), (A) P U e &

2. (A) 3R (R) SHI W& §, A (R), (A) B et e T @
3. (A)UE g Afd (R) WE A ®

4. (A Hel TET 8 AfF (R) WE1 @

Options :

92090632245. 1
92090632246. 2
92090632247. 3
92090632248. 4

Question Number : 63 Question Id : 9209068158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A) : If Integer 3 is odd then its square 'g’is also odd.
Reason (R) : If any number n is odd then its square {nz}is not necessary
odd.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632249. 1
92090632250. 2
92090632251. 3
92090632252 4

Question Number : 63 Question Id : 9209068158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& sy fe e B, o A we sifiiemya () & w0 T fafed § o guv 39
FRUR) S EFTH -

sffirpa= () - afe 3 e gof e g, &t 3w atf 9 oft guf T € gt

PRI (R) - ofe Us = n U fawn @ € d1 98 awas el ¢ f Iuesr
aif (n?) ot fewmr @ &

S Yl & 3eid |, A" AU MU fawed 7 9 a9 Suged SR &1 994

1 (@) 3R R) T WE € SR (R), (a) B S TR B

2. (A SR R) <HTEE E A R), (A) 1 UE srem T R
3. (A TE A m) wdt AT R

4. (A) HE 6T 2 Al (R WA R



Options :

92090632249. 1
92090632250. 2
92090632251. 3
92090632252. 4

Question Number : 64 Question Id : 9209068159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find in how many years will a sum double itself when given on 5% simple
interest.

1. 20 years
2. 10 years
3. 1hyears
4. 25 years

Options :

92090632253. 1
92090632254. 2
92090632255. 3
92090632256. 4

Question Number : 64 Question Id : 9209068159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopa oyl & U IR 5% b YR 4TS R G 81 Sl

1. 209§

2. 109

3. 1599

4, 2574
Options :

92090632253. 1
92090632254. 2
92090632255. 3
92090632256. 4



Question Number : 65 Question Id : 9209068160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If three numbers are in the ratio 1 : 2 : 5 and sum of their square is 120 Find the
number.

1. 1, 2and 5
2. 2,4and 10
3. 3,6and15
4. 4,8and20

Options :

92090632257. 1
92090632258. 2
92090632259. 3
92090632260. 4

Question Number : 65 Question Id : 9209068160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe o= remaff § ST 1: 2 5 8§ 3R 3% vl &1 4t 120 © o Hemd Fur gndl
1. 1,23R5

2. 24310

3. 3,635

4. 4, 8320
Options :

92090632257. 1
92090632258. 2
92090632259. 3
92090632260. 4

Question Number : 66 Question Id : 9209068161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the statements about set and their properties.
A, S={12 3,4, 5} is a set of order 5.
S = [0} is a set of order zero.
If a~b and b~c¢;then a~c ltisa transitive property.

If a~b,and b~a Itis a symmetric property.

m. 2.0 ¥

For all a, a~ b It is a reflexive property.
Choose the correct answer from the options given below :
1. A, C and E only
2 A, B and C only
3. A, C and D only
4

B and E only

Options :

92090632261. 1
92090632262. 2
92090632263. 3
92090632264. 4

Question Number : 66 Question Id : 9209068161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=y 3R 39S Uil & IR A A ol sy e
A. S={1,23 4,5} 5®I o Tg=T B
B. S={0}3YA $Ife &1 qu=a g
C. U a~p 3R b~c, T a~c U8 U YHTHd U B
D. f¢a~b, d9 b~a T8 UF TG U B
E. dfe9da® e a~p 98 UF W U B

- feu e fawedt 7 9 et IR &1 99 S -
1. PadA C3RE
2. FAAA B3R C
3. ®aAdA C3R D
4. HAAB R E
Options :

92090632261. 1
92090632262. 2
92090632263. 3
92090632264. 4

Question Number : 67 Question Id : 9209068162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—l with List=Il :

List—I List-lI
(Operation of union) (Law)
(A)| AuB=BuUA (I) | Associative Law

(B) | (AuB)uC=Au(BuC(C) (1) | Commutative Law

(C)| ALA=A (1) | Law of Idempotent

D)| Aup=A (IV) | Law of Identity

Choose the correct option from those given below :
1. (A)(I); (BY=(1): (C)(ly; (D)-(1V)
2. (ARl (B (C)HI); (D)(IV)
3. (A=) (B} (CH=(IV); (D)1

4. (AN (B(IV): (CH(I); (D)(1)
Options :
92090632265. 1
92090632266. 2
92090632267. 3
92090632268. 4

Question Number : 67 Question Id : 9209068162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i1 & T G- &1 e Sifor -

Q- G-
(@fvo @t e (Fram)
(A)| AuB=BUA () | gre=d e
(B) | (AuB)uC=Au(BUC) | (II) |wafafEg Fraw
(C)| ALA=A () | o7Raw &1 701
(D) | Aud=A (V) | e 1 01

4= fau o faerall O O wdl 39T F1vHE i
(A)=(11); (B)=(1); (C)=(I); (D)~(1V)
2. (A1) (B (C)=(l); (D)(1V)
3. (A1) (B (C)(IV): (D)1
4. (A (B)HIV): (C)H(I); (D))

—

Options :

92090632265. 1
92090632266. 2
92090632267. 3
92090632268. 4

Question Number : 68 Question Id : 9209068163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not related to Namami Gange (National mission for clean Ganga)
Programme?

1. This is a ‘Flagship programme’ of the Union Government.

N

This programme is started in June 2014.

3. The objectives of this programme are the effective abortment of
pollution, conservation and rejuvenation of river Ganga.

4. This programme will be stretched further to conservation and
purification of river Yamuna also.

Options :
92090632269. 1
92090632270. 2



92090632271. 3
92090632272. 4

Question Number : 68 Question Id : 9209068163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frofefEa o @ SF-a1 Sy= =iy 07 g & gefta T8 e
1. U8 &% GIHR &1 THIRM WanT g1
2. U8 SIAHH (HUTH) S 2014 T URH g3 U1

3. TR Tl T wuTE ot | UGHOT §R ST, TREMUT AUl T IER0l Sl 39
U & I ¢

4. gg UM (STdwH) 9gAT 9dl & TRe01 SR YIGH0 S aF Jar
ST |

Options :

92090632269. 1
92090632270. 2
92090632271. 3
92090632272. 4

Question Number : 69 Question Id : 9209068164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A shopkeeper needs to measure the purity of milk. Which instrument he should
usa?

1. Hygrometer
2. Lactometer
3. Monometer
4.

Viscometer

Options :

92090632273. 1
92090632274. 2
92090632275. 3
92090632276. 4



Question Number : 69 Question Id : 9209068164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U GHIFGR gY B Y&dl B A1 & U H19-3 93 &1 udiv s3m?

3. HHEEIR
4. fawreR
Options :

92090632273. 1
92090632274. 2
92090632275. 3
92090632276. 4

Question Number : 70 Question Id : 9209068165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Sickle cell anaemia' and ‘Thalassemia' diseases are hereditary as these are
generally caused by gene or chromosomal mutation. These diseases can be
categorised under:

1.  Allergic Diseases

2. Degenerative Diseases
3. Congenital Diseases
4

Communicable Diseases

Options :

92090632277. 1
92090632278. 2
92090632279. 3
92090632280. 4

Question Number : 70 Question Id : 9209068165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRarIal SR ey A, argdfde Am & ok WuRvE: i a1 TuREh IaftadE
AN A S RGN T E L R ) A0 | £ 77| - S—

1. el 3

2. 3UPHYS AT

3. O AT

4. UshiHd I
Options :

92090632277. 1
92090632278. 2
92090632279. 3
92090632280. 4

Question Number : 71 Question Id : 9209068166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not a part of a flower?
1. Calyx
2. Corolla
3. Gynoecium
4

Placenta

Options :

92090632281. 1
92090632282. 2
92090632283. 3
92090632284. 4

Question Number : 71 Question Id : 9209068166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofif@d & @ S19-91 B &1 4T e 82
1. dREdys (i)

2. AU (SR

3. W

4. AR (8
Options :

92090632281. 1
92090632282. 2
92090632283. 3
92090632284. 4

Question Number : 72 Question Id : 9209068167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pollination is the mechanism for fertilization in plants : Plants use abiotic and
biotic agents to achieve pollination. Which one is not an agent of pollination?

1. Wind

2 Fungus

3. Water

4 Animals
Options :

92090632285. 1
92090632286. 2
92090632287. 3
92090632288. 4

Question Number : 72 Question Id : 9209068167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oREToy, diel F f8EH &1 UshH g1 9iE Wl & ford Gifde ok sraifds sRe! &1
ydm &g e | fFafafad & @ S19-91 e &1 SR T8l 87

1. 99

2. wEd

3. O

4. 9Hd
Options :

92090632285. 1
92090632286. 2
92090632287. 3
92090632288. 4

Question Number : 73 Question Id : 9209068168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Breathing involves two stages : inspiration and expiration.

Reason (R) : Expiration takes place when the intra-pulmonary pressure is
higher than the atmospheric pressure.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090632289. 1
92090632290. 2
92090632291. 3
92090632292. 4

Question Number : 73 Question Id : 9209068168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

R & sy fer e §, o @ ue sifirey (a) & wu I fifea € o gov Sus
FRU(R) FFIH

AMHYT (A) ;YT P S Ermy § Py 3 Fywa )

BRI (R) . O HRPUTHHY o, agrsey g | e g g
F:e B g

SuE HYEl & et #H, [ Gy e fAeed d ¥ waw Iuged IR &1 994

1. (A) 3R (R) G &1 € SR (R), (A) 1 UE1 s @

2. (A) 3R (R) THT O §, B (R), () 31 T amem T @
3. (AR RAFT R TR

4. (A) W T B AT (R) TR &

Options :

92090632289. 1
92090632290. 2
92090632291. 3
92090632292. 4

Question Number : 74 Question Id : 9209068169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prophase of the first meiotic division is typically longer and more complex when
compared to prophase of mitosis. It has been subdivided into the following
phases Arrange these phases into an order

A. Pachytene
B. Leptotene
C. Diplotene
D. Zygotene
E. Diakinesis

Choose the correct answer from the options given below :
1. A,B,G, D, E
2. B,D,ACE
3. B,D,CAE
4.

E,.C,A,B,D

Options :

92090632293. 1
92090632294. 2
92090632295. 3
92090632296. 4

Question Number : 74 Question Id : 9209068169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YA TRE! fauTe- &1 gaiaw A & 9 3f
@it Ut wifed gt €, 39HT IU- ﬁimﬁaaawaﬁﬂw %1s=|emmﬁ

&1 U ovH H Frafiyd Sifo .
A B
B. dPIdH
c. fmdH
D. W
E. SEFHFEARY
1 feu e fasedl & @ el IR &1 954 S -
1. AB,C,D,E

2. BDACE
3. B.D,CAE
-+ E.C,A,B,D

Options :

92090632293. 1
92090632294. 2
92090632295. 3
92090632296. 4

Question Number : 75 Question Id : 9209068170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements—| : Sun is the only source of energy for terrestrial ecosystem.
Statements—Il : Phytoplankton and Algae are called as producers in aguatic
ecosystem.

In the light of the above statements, choose the most appropriate answer from
the options given below.

| Both Statement—I| and Statement—I| are comrect
2. Both Statement—I and Statement—Il are incorrect
3. Statement—I is correct but Statement—I| is incorrect

4. Statement—I is incorrect but Statement—II is correct



Options :

92090632297. 1
92090632298. 2
92090632299. 3
92090632300. 4

Question Number : 75 Question Id : 9209068170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY— . g e SeuRfufiel & o sper ol &1 did 8|
FUT—I %?ﬁ{éhﬁﬂ:ﬁﬂfﬂ 3R Yara weia siguifRfst #§ Saes Fead
|

SIue YAl & e H, T few e fawedi d 9 et IR &1 9 Fife
1. BY—| R FY—I G T §
2. YT 3R BYF—II ST T &
3. YT GG ¢, A FYT— ST B

4, HYT—| 3TY g, Afhd FYT—I T &
Options :
92090632297. 1
92090632298. 2
92090632299. 3
92090632300. 4

Question Number : 76 Question Id : 9209068171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—| : The Chipko Movement of Garhwal is related to protecting
wild animals from hunting.

Statements—Il : Amrita Devi Bishnoi Wildlife protection Award for
individuals is instituted by the Government of India for
protecting wildlife.

In the light of the above statements, choose the correct answer from the
options given below.

1. Both Statement—I and Statement—I| are true
2. Both Statement—I and Statement—I| are false
3. Statement—I is true but Statement—II is false
4

Statement—I is false but Statement—II is true

Options :

92090632301. 1
92090632302. 2
92090632303. 3
92090632304. 4

Question Number : 76 Question Id : 9209068171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS sy

FYT— %ﬁmmﬁwmmﬁﬁmﬁ?ﬁmﬁﬁ&ﬂ%m
|

FYT—I - Al odl fasts Siefleita GRen R, YRd WHR g, Sl

%ﬂaﬂaﬁmﬁmmﬁﬁmm@rﬁwﬁww

U By & aireies H, 12 3y e el § 4 |t 3w o1 =99 i
1. HYT—1 3R YA SH T &
2. HYA— AR FYA—I T WA B
3. $YT—1 Y 8, A FYT—I S §

4, HYT—| ATA g, dfFT YT TI T
Options :



92090632301. 1
92090632302. 2
92090632303. 3
92090632304. 4

Question Number : 77 Question Id : 9209068172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Non-renewable energy sources are

A. Coal

B. Hydropower

C. 0Oil and Natural gas
D. Solar energy

E. Geothermal energy

Choose the correct answer from the options given below :
1. B, and E only
2. CandEonly
3. AandC only
4. AandE only

Options :

92090632305. 1
92090632306. 2
92090632307. 3
92090632308. 4

Question Number : 77 Question Id : 9209068172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A ST
B. Gorufad
Cc. od iR urefas M
D. RSl
E.  Yardig el
- fou mu fawedt 7 O wgt IW &1 99 S
1. PddAB 3R E
2. HAAC IR E
3. FAAA R C
4, FAAASNR E
Options :

92090632305. 1
92090632306. 2
92090632307. 3
92090632308. 4

Question Number : 78 Question Id : 9209068173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List—I List-lII

(Name of organism) | [Chromosome number
in gamete (n)]

(A) | Human beings | (I) |06
(B) | House fly (I |10
(C) | Maize (my | 23
(D) | Rice (Iv) |12

Choose the correct option from those given below :
1 (A (B (C)-=(IV); (D)=(1)
2. (A)y=(; (B}-(1V); (CH(l); (D)(D)
3. (A)y(; (By(1); (CH(1): (D)-(IV)
4. (AR (B)=(1); (C)=(11); (D)=(IV)

Options :

92090632309. 1
92090632310. 2
92090632311. 3
92090632312. 4

Question Number : 78 Question Id : 9209068173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 & Ty G- 1 e Sifore

gt T
Gl FTTH) | [GHS F TR (n)]
(A) | HFESITA M |06
(B) | R HEE |y |10

(C) | ARl (ly | 23

(D) | =ra@ v |12

4= feu v fael & @ udt Iuw &1 99 S
(A)(1); (B)=(11); (C)=(IV); (D)-(1)

-
.

2. (A)(; (B)IV); (O (D)D)
3. (A1) (B (©)-(1); (DIHIV)

4. (A (B)-(1); (C)-I); (DHIV)

Options :

92090632309. 1
92090632310. 2
92090632311. 3
92090632312. 4

Question Number : 79 Question Id : 9209068174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is Fazenda?
1. A commercial grain cultivation
2 A coffee plantation in Brazil
3.  Arubber plantation in Malaysia
4

A sugarcane plantation in Indonesia

Options :

92090632313. 1
92090632314. 2
92090632315. 3



92090632316. 4

Question Number : 79 Question Id : 9209068174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WoleT o1 82
1. TP PGS 3 S Gl
2. siTelta ® SIwt & didf 3 Gt
3. Wafkm@ # §e & dei &t @t
4. SRR # A & didf Bt @A

Options :

92090632313. 1
92090632314. 2
92090632315. 3
92090632316. 4

Question Number : 80 Question Id : 9209068175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I with List=Il ;

List-I List—II
(Railway Zone) (Headquarters)
(A) | Central (1) | Chennai
(B) | Eastern central (1) | Jabalpur

(C) | Western central (lll) | Mumbai CST

(D) | Southern (IV) | Hajipur

Choose the correct option from those given below :
1. (A=) (B (C)=(I); (D)=(1V)
2. (A=) (B)=(I); (CH-(IV); (D))
3. (A)y(ln); (By-(IV); (Cy-(l); (D))
4. (AR(V) (B)=(H); (C)=(); (D)

Options :

92090632317. 1
92090632318. 2
92090632319. 3
92090632320. 4

Question Number : 80 Question Id : 9209068175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G- & iy a1 &1 e sifo

Tl G-I
(e &) (qeHTer)
(A) | P (1 |==%

8) | gdf Hftg () | SEaR
© |dfEgeft =g | qny | gMEg (CsT)
(D) | afémft (Iv) | grliRR
1 feu e fawedt & & |dt 3w &1 99 S
1. (A=); (B)=(I1); (©~(IIN); (D}-(1V)

2. (A1) (B (V) (D)D)
3. (AI); BYHIV); (C1); (D)D)
4. (A)-IV); (B (O (D)1

Options :

92090632317. 1
92090632318. 2
92090632319. 3
92090632320. 4

Question Number : 81 Question Id : 9209068176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Ceres’ is a
1.  Super Moon
2. Dwarf Planet
3. Comet
4.  Lunar Eclipse
Options :
92090632321. 1

92090632322. 2
92090632323. 3



92090632324. 4

Question Number : 81 Question Id : 9209068176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W R/
1. YR
2. dWMIUE
3. YHEg
4. dguEUl
Options :

92090632321. 1
92090632322. 2
92090632323. 3
92090632324. 4

Question Number : 82 Question Id : 9209068177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Planning commission has been replaced by
1. Lokayukta
2 Ministry of education
3.  NITI Aayog
4

Election commission

Options :

92090632325. 1
92090632326. 2
92090632327. 3
92090632328. 4

Question Number : 82 Question Id : 9209068177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS TERT 1 fbud ufawnftd fear mn g2

1. S

2. T dare

3. i sman

4. TG AT
Options :

92090632325. 1
92090632326. 2
92090632327. 3
92090632328. 4

Question Number : 83 Question Id : 9209068178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is the first organic state of India.

1. Manipur

2. Maharashtra

3.  Sikkim

4. Kerela
Options :

92090632329. 1
92090632330. 2
92090632331. 3
92090632332. 4

Question Number : 83 Question Id : 9209068178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. PR

2. HER

3. fufewn

4. HW
Options :

92090632329. 1
92090632330. 2
92090632331. 3
92090632332. 4

Question Number : 84 Question Id : 9209068179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—l with List=Il :

List—I List-lI
(Place) (Associated with)
(A) | Corsica (1) | Jesus Christ
(B) | Jerusalem (I} | Alexander
(C) | Trafalgar (Ill) | Napoleon Bonaparte
(D) | Macedonia (IV) | Nelson Mandela

Choose the correct option from those given below :
1. (A1) (BY(1): (CH(H); (D)-(1V)
2. (A(); (B (C)=(IV); (D))
3. (A=) (BY(1): (CH(IV); (D)=(H)
4. (A(IV); (B)=(1): (C)(I); (D))

Options :

92090632333. 1
92090632334. 2
92090632335. 3
92090632336. 4



Question Number : 84 Question Id : 9209068179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tell-1 & a1y G- &1 e Sifore

g It

(&) @ Wefra @)
W |FRFBT | () |SHEdE
(B) | SETEH | () | TETEER
(C) | TTHER (i | AferE ST
(D) | TEEFm | v) | A HEe

= e o e 3 udt ouv 1 9w wifn
1. (AI); (B-(1); (C—(1I); (D)-(1V)

2. (A (B)1); (C-IV); (D))
3. (A1 (BY-(: (CHIVY; (DY
4. (AHIV); (B)=(1); (C)=(l1); (D)-(H1)

Options :

92090632333. 1
92090632334. 2
92090632335. 3
92090632336. 4

Question Number : 85 Question Id : 9209068180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following significant events in accordance of their chronological
order, the oldest one comes first.

A. Execution of Mussolini
Foundation of UNO
USA dropping an atomic bomb on Japan

End of World War |

m o O

Hitler becoming the chancellor of Germany
Choose the correct answer from the options given below :
1. EAEDB
2. DEABC
3. EADBC
4 D,E.ACB
Options :
92090632337. 1
92090632338. 2

92090632339. 3
92090632340. 4

Question Number : 85 Question Id : 9209068180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau v fagiy Sl 1 3% STadH H, 998 R I 99 60 & YR JdfRd
$|%’IEJ

A, TEfeEt & wid
B. UNO &I U=l
C. USA S SMUH W §H fIRFI
D. Ugdfay gg &1 3id
E.  feeer &1 onfht &1 parftufy @) s
i fgu T fawedl 9 O waw Iuge I 1 994 HifeT
1. EACDOSB
2. D,EABC
3 EADBT
4. D,EAC,B

Options :

92090632337. 1
92090632338. 2
92090632339. 3
92090632340. 4

Question Number : 86 Question Id : 9209068181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=Il :

List-I List—lI
(Palitical header) (Political party)

(A) | Babasaheb Bhimrao Ambedkar (1) | Bharatiya Jana Sangh

(B) | A. K. Gopalan (Il) | Independent Labour Party
(C) | Shyama Prasad Mukherjee (Ill) | Communist Party of India
(D) | Rajagopalachari (IV) | Swatantra Party

Choose the correct option from those given below :
1. (A1) (BHIV); (CHI); (D))
2. (AHIL; (B (C(1): (D)-(1V)
3. (A (BHIV): (CH(I); (D)

4. (A(IV); (B)=(llT); (Cy=(I); (D)D)
Options :
92090632341. 1
92090632342. 2
92090632343. 3
92090632344. 4

Question Number : 86 Question Id : 9209068181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gell-1 & iy Gelt-11 &1 e Sifse

- -
(TS CIEE I REAE)]
) | s aeg m ug s | ) | WRdE 99 Oy
(B) | @ &. TiareH 1y | ad= 4fie ga Efeuse
e urd)
(C) | <ar wre it ) | UReg grErdt ga
(D) | Ht. TeTaTAER (v) | Tac= urdf
1 feu o fasadi # O WE IR &1 9u Hifore -

T (A1) B-(V); (©-(II); (D))
2. (A (B-(); (C)~(1); (D)~(1V)
3. (A B)-(1V); (1) (D))

4. (AHIV); (B (C=(); (D))

Options :

92090632341. 1
92090632342. 2
92090632343. 3
92090632344. 4

Question Number : 87 Question Id : 9209068182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements—I| : Under the provision of Article 352 of the Indian
Constitution, the government could declare a state of
emergency on grounds of external threat or a threat of
internal disturbances.

Statements—II : Once an emergency is proclaimed, the federal distribution
of power remain practically suspended and all the powers
are concentrated in the hands of the President of India.

In the light of the above statements, choose the correct answer from the
options given below.

1. Both Statement—I and Statement—I| are true
2.  Both Statement—I| and Statement—II are false
3. Statement—I is true but Statement—I| is false
4

Statement—I is false but Statement—I| is true

Options :

92090632345. 1
92090632346. 2
92090632347. 3
92090632348. 4

Question Number : 87 Question Id : 9209068182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FYT—  : HRAN G & 3wdG 352 & IUEY & Hid PR el Wl
a1 3y wifa 171 81 & fhadl oy & SnyR W smarafufa &1
HIY0N HY bl gl

FY—Il ;.  UF &R, Auarfa o g9won g1 W ufdadl &1 g faavo
andeTe U ¥ fdfad g1 omar § ofk ot wfdal wra & wyufa
& g1di 7 Hfd 8 9t 21

Iuad YAl & et H, R few e fawedt i 9 wEt IR &1 9 Fife
1. PYT— MR FYA—N S A &
2. HYA— IR HYA— SHT T §
3. PYT—| TG ¢, A YT A B
4, FYT—| Y ¢, AP FYT—I TI 8

Options :

92090632345. 1
92090632346. 2
92090632347. 3
92090632348. 4

Question Number : 88 Question Id : 9209068183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Historically, the understanding of inequality in the social
sciences has been dominated by notions of class, race and
more recently, gender.

Reason (R) : Social exclusion is not accidental but systematic, it is the
result of structural features of society.

In the light of the above statements, choose the most appropriate answer
from the options given below.

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A} is correct but (R) is not correct

4. (A} is not correct but (R) is correct

Options :

92090632349. 1
92090632350. 2
92090632351. 3
92090632352 4

Question Number : 88 Question Id : 9209068183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 3wy e e g, o A w aifiimya (4) F w0 1 fafed § O g 99
FRU(R) F EUH :

fiipya (a) - Ufdefe &0 8, amfos fagE d sammar &1 9ws W avi,
ot 3R g1 gt § wie (fein) &t yRunaii &1 g=d w1 gl

SR (R) . gfoie Sfessvu gHeqsH T8 € afce omife 81 U
AT P TXEES faansif 1 ufvomm g1

Sua Pyl & e #, -9 AU U fGhedl A § Hed IUYR SR BT 99
Biforg ;

1. (A) 3R (R) THI T8 € 3R (R), (A) P T e 8

2. (&) 3R R) ST T € A (R), (A) P T amem T @
3. (A) UEl & dfd R) WE T @

4. (A) Hel 6l ¢ dfeh (R) WEI @

Options :

92090632349. 1
92090632350. 2
92090632351. 3
92090632352. 4

Question Number : 89 Question Id : 9209068184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In India; the sex ratio is worked out using the following formula :

Male Population i
Female Population

Female Population

100
Male Population >

Male Population "
Female Population

Female Population

000
Male Population )

Options :

92090632353. 1
92090632354. 2
92090632355. 3



92090632356. 4

Question Number : 89 Question Id : 9209068184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URd #, ol srura Ferad &1 g a2

&Y SHE

1. r2100
T ST

2 — x 100
ST

3. g'gq—,xmuu
Tt W

4 . x 1000

Options :

92090632353. 1
92090632354. 2
92090632355. 3
92090632356. 4

Question Number : 90 Question Id : 9209068185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the current times, the guru-shishya system is prevalent only in the realm of
the arts in the training of dancers and musicians. The long period of
apprenticeship with the guru and the strong emotional bond between guru and
shishya, all necessitate a cognitive mode that requires that the student be
constantly but aptly placed in a

1.  learning environment

2 testing setting

3. performing environment
4. continuous setting

Options :

92090632357. 1
92090632358. 2
92090632359. 3
92090632360. 4



Question Number : 90 Question Id : 9209068185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g grg H, 3-Rrsy yornelt &1 U= Fad s F a7 §, Tde! gyl Siftadl &
e & €1 1 7% & ary e o el arafil qun e ok R & dt we srguye
AT Ty, ﬁﬁﬂwmmmﬂa{m&m%mﬁMmﬁaﬂ

Had fég Sugad 18 # wiftra @ o 81
1. ST qrdTaRol
2. e famE
3. DIYd UEd $ $ e Suga araravun
4. sffaf=sd fa=mg
Options :

92090632357. 1
92090632358. 2
92090632359. 3
92090632360. 4

Question Number : 91 Question Id : 9209068186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Performing in a show teaches a learner how to take criticism and apply it. As a
result, it may teach them to be

1.  Humble

2. Critical

3. Smart

4 Egotistical
Options :

92090632361. 1
92090632362. 2
92090632363. 3
92090632364. 4

Question Number : 91 Question Id : 9209068186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o A UeRH g S-S d fAue qur I9$T UdnT $31 & gRunH 494,

yesHadl faemdf &1 — 71 e &1 sraeR e 21
1. faw
2. =TS
3. W
4. Sigsd
Options :

92090632361. 1
92090632362. 2
92090632363. 3
92090632364. 4

Question Number : 92 Question Id : 9209068187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary motive of using puppetry in teaching processes is likely to ... the
students

1. Entertain

2 Excite

3. Delight

4 Educate
Options :

92090632365. 1
92090632366. 2
92090632367. 3
92090632368. 4

Question Number : 92 Question Id : 9209068187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRreror uftran & Seqact &1 uhh &3 &1 g S fReffai st B

1. TENGH ST

2. IgH T

3. HfEaHT

4. fufé@ s
Options :

92090632365. 1
92090632366. 2
92090632367. 3
92090632368. 4

Question Number : 93 Question Id : 9209068188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emphasis on ... singing in music education programs is closely linked with
the general teaching idea that learning is based on drill

1. Syllables

2. Pitch

3. Notation

4. Composition
Options :

92090632369. 1
92090632370. 2
92090632371. 3
92090632372. 4

Question Number : 93 Question Id : 9209068188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl Renedesdid | oA W ad, e & 59 9 sEyrRon ¥ o8 avE
9 g% 2 B aiftnmm sngrg W anefya 21

1. HE&R

2. WY

3. Wfafm

4. HOE
Options :

92090632369. 1
92090632370. 2
92090632371. 3
92090632372. 4

Question Number : 94 Question Id : 9209068189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It is important for the teachers to understand that health is a concept as
it is shaped by biological, social, economic and political factors.

1. multidimensional
2. national
3. unitary dimensional

4. medical

Options :

92090632373. 1
92090632374. 2
92090632375. 3
92090632376. 4

Question Number : 94 Question Id : 9209068189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et % fore gg grerT Hew g @ fp @reaus @R @ Fiife 38 i,
grATfeie, fie iR Aorifae SRS gRI ER &0 S gl

1. agamant

2. UHd T

.

4. RfFasl
Options :

92090632373. 1
92090632374. 2
92090632375. 3
92090632376. 4

Question Number : 95 Question Id : 9209068190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An analysis of the morality and nutritional indicator from the pre-school,
primary, secondary and senior secondary levels show that and
communicable diseases are the major health problems faced by the majority of
the children in the country.

1. physical disabilities
2. under-intelligence
3. under-nutrition

4, mental health issues

Options :

92090632377. 1
92090632378. 2
92090632379. 3
92090632380. 4

Question Number : 95 Question Id : 9209068190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Srargd, wufie, mafie aul I@ay A1l wRI 61 g ayl g had! B
fazeso gofa @ f6 _ aur e A gAR S # SHfYdar sl R 91 31
o areft W TRy e

1. SRR steman
2. U
3. 3fed Uy

4. HHARYS Wy ddd qg

Options :

92090632377. 1
92090632378. 2
92090632379. 3
92090632380. 4

Question Number : 96 Question Id : 9209068191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It is important for the teacher to know that (As shown by NFHS5 (2019-2021)
data) there is an anaemia problem in the country. of women aged 15 to
49 and of men aged 15 to 49 are anaemic out of which a significant
number is of boys and girls enrolled in secondary school.

1. 57 percent; 25 percent
2. 27 percent; 15 percent
3. 67 percent; 35 percent
4. 17 percent; 05 percent

Options :

92090632381. 1
92090632382. 2
92090632383. 3
92090632384. 4

Question Number : 96 Question Id : 9209068191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rier & forg ag o1 Ae@yul & f (NFHS5 (2019-2021) %1 S1eT €2fdT 8) ¥Rd
Hygear st aran gl i 1s J49afFfa st iR gew 158 49
T & &9 & IgaeHal @ 3R g1 39 9 ve e S8 31 or/emsl #it 8
forTanT A Arefie faemei ¥ )

1. 57 Widwrd, 25 wiawd
2. 27 yfasrd, 15 wfaed
3. 67 ufcwrd, 35 ufaerd
4. 17 yfa=rd, o5 wfaerd

Options :

92090632381. 1
92090632382. 2
92090632383. 3
92090632384. 4

Question Number : 97 Question Id : 9209068192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Comprehensive school health programme should include medical care, health
and physical education, clean school cnvironment and

1.  parental health
2. teacher health
3. distribution of medicines

4. school lunch

Options :

92090632385. 1
92090632386. 2
92090632387. 3
92090632388. 4

Question Number : 97 Question Id : 9209068192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U TS Tpd Wil S d 7 e e, awa vd IR fRian, faemeg
&1 W3 AR 3R wnfi@ g

1. fidas! & W

2. P! &1 @y

3. gargdl &l faawu
4, Epel B (M9
Options :

92090632385. 1
92090632386. 2
92090632387. 3
92090632388. 4

Question Number : 98 Question Id : 9209068193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Both yoga and physical education should be regular part of the and must
be seen as components of comprehensive school health programme.

1.  parents’ responsibility
2.  society responsibility
3. school timetable

4.  child's home schedule

Options :

92090632389. 1
92090632390. 2
92090632391. 3
92090632392. 4

Question Number : 98 Question Id : 9209068193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



anT ofR I Ren S & Frafiya um @9 ifte oik 3 aaue whd W
HHH & 371 B a¥E @1 S AU

1. fiyEs &1 Imeia
2. HS $1 FRedE

3. Wpd & gHyg gifvef

4. FAE WD -

Options :

92090632389. 1
92090632390. 2
92090632391. 3
92090632392. 4

Question Number : 99 Question Id : 9209068194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The song ‘'Itni shakti humeindena data’, popularly sung in morning assembly in
schools, originally sung by which of the following singers in a film?

1. Kamal Barot

2 Sudha Malhotra
3. Pushpa Pagdhare
4

Mubarak Begum

Options :

92090632393. 1
92090632394. 2
92090632395. 3
92090632396. 4

Question Number : 99 Question Id : 9209068194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ot fdd g6 &A1 grar T SR fderadl # gae @1 9y § TR S g
frafafad ¥ @ grafee wu o 39 fem Tae A e o man €2

1. ®AdEed

2. guIHeH

3. TUIUNE

4. TARS I
Options :

92090632393. 1
92090632394. 2
92090632395. 3
92090632396. 4

Question Number : 100 Question Id : 9209068195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHO has set a standard chart to determine health status using weight through
BMI. Choose the Correct statements for BMI.

A. BMI less than 18.5 is known as under weight
BMI from 18.5 to 24.9 is of over weight
BMI = 30 is obesity

BMI from 25 to 29.9 is over weight

m o o @

BMI less than 20.5 is under weight
Choose the correct answer from the options given below :

1. A,Cand Eonly
2. AandC only
3 B, D and E only
4 A only

Options :

92090632397. 1

92090632398. 2

92090632399. 3
92090632400. 4



Question Number : 100 Question Id : 9209068195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. fay Targ TieH A W W1 & A9 & fore BMI & AT | HR &1 A S
g0 Us S 91¢ daR 1 81 s SHuR #19 & $y9 M1 & fore 3fa &2

A. 185 Y HH BMI B SUHR HgT T &

B. 18.5 ¥ 24.9 g% BMI ! AHfAHR &1 T §
C. BMI = 30 &! HieTal &gl 741 §

D. 253 29.9 % BMI FI ARUR FEr T ¢

E. 2059 $HBMI & SEHR el 1 ¢

3 fau o faesedl @ | WEt IWR F1 997 Hifor -
1. ®ddA, C 3RE
2. FadA MRC
3. %aaB,D 3RE
4. FHA@A
Options :

92090632397. 1
92090632398. 2
92090632399. 3
92090632400. 4



